7 sep. 1940

[bookmark: _GoBack]Royal engineers, Platoon 4.
Lieutenant’s Order Form:

2 pairs of socks and 1 flashlight issued to sapper troy.
Total:

1 pair of boots, 1 helmet and 2 ration packs issued to lance corporal Jenkins.
Total:

1 pair of trousers, 1 gas mask and 1 compass issued to Sargent Johnson.
Total:

1 entrenching tool, 1 canteen and 1 light trench coat issued to sapper brown.
Total:

1 parachute, 1 gas mask and 2 pairs of socks issued to sapper moise. 
Total:

5 shirts and 3 pairs of trousers to be issued to D section.
Total:

1 carrier bag, 1 helmet and 1 entrenching tool to be issued to sapper braggs and sapper white (each).

1 light trench coat, 2 ration packs and 1 pair of boots to be issued to Sargent digby. Round this to the nearest pound.

1 gas mask, 1 helmet to be issued to staff sergeant pierce. Round this to the nearest tenth.
Bonus:

How much did sapper troy and Sargent johnson’s kit cost altogether?

How many gas masks were ordered altogether?

What was the total cost of the lieutenant’s order? Write your answer in numbers and in words.

If the platoon budget was £1200. How much money is left?

Use a book and/or the internet to find out what happened on 7 september 1940.



